CAL SMACNA Safety Award Judging Criteria  
Injuries with lost work days on the Cal/OSHA Log 300A report equals total incidences.  The OSHA Modifier of 200000 is divided by man hours for the year then multiplied by the total incidences which equals the incident rate.  Everyone with an incident rate under 10 wins an award.  Anything over 10 doesn’t qualify.  A mod rate over 100 does not qualify.
First prize in each man hour category is chosen by the most hours worked for the year then by the lowest incident rate for that category.
The Most Improved Safety Award
To calculate the Most Improved Safety Award:
This is given based on the past four years.  Need Cal/OSHA Log 300A and experience modification from four years ago.  Need current Cal/OSHA Log 300A and experience modification.
Take lost time incidences from 4 years ago x 100 plus experience modification that year.  Divide answer by 2. Take current lost time incidences x 100 plus their current experience modification. Divide by 2.
Subtract current year answer from previous year’s answer for final number.  The higher the number, the more improvement.
Example: 
Four years ago:  2 incidents; experience mod then 110
2 x 100 = 200 + 110 = 310/2 = 155
Current:  0 incidents; experience mod 85
0 x 100 = 0 + 85 = 85/2 = 42.5
155 - 42.5 = 112.50

	

	

	



